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Puzzle –Part I.  

Directions (Q.1-5) Read the information given below and then answer the questions that follow: 
Eight friends M,N, O, P , Q, R, S and T are sitting in a circle  facing the centre . P is third to the right of M and second to the left of S. 
T is third to the left of S. Q is not immediate neighbor of S.  N is not immediate neigthbour of M. O is second to the right of N. Q is 
also not immediate neigthbour of T. 

S R, Q, P, O, N, M, T MP, S ST,

Q, S MN, O,N TQ,

1. Who is third to the right of N? 

N
(a) Q (b) T (c) P (d) R (e) None of these 

2. Who is second to the left of M? 

M  

(a) N (b) R (c) S (d) Data inadequate (e) None of these 
3. Who is sitting between P and S? 

P S  

(a) Only R (b) R and N (c) only N (d) Data inadequate (e) None of these 
4. How many persons are sitting between Q and S ? 

Q S  

(a) Only 2  (b) only 3  (c) Only 4 (d) Only 2 and or 3  (e) None of these 
5. Who is sitting between T and M ? 

T M  

(a) Only R (b) Only N (c) Q and P (d) Data inadequate (e) None of these 
 
Directions (6-11):  
Eight  friends P,Q, R, S, T, V, W and X are sitting in a circle  facing the centre. X is second to the left of V. S is fourth to the right of 
V. P is immediate right of T. Q is not immediate neighbor of X or V. W is the immediate neighbor of V. 

 WV, T,S, R, Q,P, X VX, VS, P,T X

V Q ,W V

6. Who is second to the right of P ? 

P  

(a) S (b) Q (c) V  (d) R  (e) None of these 
7. Which pair of persons show the immediate neighbour of Q? 

Q  

(a) PW  (b) WT (c) SP  (d) TS  (e) None of these 
8. Who is sitting between ‘X’ and ‘S’? 

X S  

(a) W (b) Q (c) R  (d) P  
(e)None of these 

9. Four of the following five are a like in a certain way based on the information given above . Which is the one that does not 
belong to that group? 

 (a) PQ (B) TR (C) QX  (D) TS  
(D) RP 

10. According to the given information given above, one option is true. 
 

(a) P is immediate neighbor of Q 
(b) V is sitting immediate right to T 
(c) T is sitting second to the right of S 
(d) R is immediate left to the Q 
(e) None of these 

(a) QP, (b) TV, (c) ST, (d) QR,

(e)

11. If in the sitting arrangement they will interchange their position to opposite side each-other. Then one option will be true. 
 

(a) S is immediate right of R. 
(b) Two persons are sitting between V and P. 
(c) T is siting second to the right of W. 
(d) P is sitting third to the left of X. 

(e) None of these 

(a) RS,

(b) V P

(c) WT,
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(d) XP,

(e)

Directions(12-17): 
A,B,C,D,E,F,G and H are sitting in a circle facing centre. C is third to the left of A and second to right of E. B is second to the right of 
C. D is second to the right of F, who is second to the right of A.G is not an immediate neightbour of C. 

GF,E,D,C,B,A, H AC, E CB,

FD, A G,C

12. Who is immediate right of C? 

C  

(a) H  (b) G    (c) D      (d) Data inadequate  (e) None of these 
13. Who is immediate right of H ? 

H  

(a) D  (b) G  
(c) A  (d) Data inadequate  
(e) None of these 

14. Who is immediate left of D? 

D  

(a) C  (b)  H   (c) F (d) E  (e) None of these 
15. Who is third to the right of D? 

D  

(a) C  (b) H (c) F  (d) E  (e) None of these 
16. Who is second to the right of G? 

G  

(a) A  (b) D  
(c) E  (d) B  
(e) None of these 

17. In which of following group the first person is sitting between the second and the third person 
 

(a) BHA  (B) CHB (C) EDC  (D) DFG (E) None of these  
 
Direction(18-20):   
L, M, N, O , P , Q and R are sitting around a round table facing centre. O is sitting between L and R. Q is second to the right of R. P is 
second to the right of Q . N is not an immediate neighbour of R. 

QP,O,N,M,L, R LO, R RQ, P,Q

RN,

18. Which of the following options is not true:- 
 

(a) R is second to the right of L          (b) M is second to the left of N 
(c) L is sitting between O and P         (d) P and N are immediate neighbour 
(e) P is sitting in front of N 

(a) LR,

(b) NM,

(c) OL,

(d) P N

(e) P N

19. How many persons are sitting between L and Q. If they count anti-clockwise from L to Q? 

L Q  

(a) One (b) Two (c) Three (d) Four (e) More than four 
20. Who will be next to left of P? 

P  

(a) L (b) N (c) M (d) O (e) None of these 

 
Directions (21-25) 
Eight persons are sitting in two parallel lines. Each parallel lines four persons are sitting in equal distance . Line I, P, Q, R, S are 
sitting . (not necessary, they are sitting given above) and they are facing towards north. Line II, A, B, C, D,  are sitting (not 
necessary they are sitting in a series given above) they are facing south. They are all sitting in such a way that line I and line II 
persons facing to each other. 
B is second to the let of D. R is sitting to next who is facing D. Only one person is sitting  between R and P. C is not facing to R. Two 
persons are sitting between R and Q. 

SR,Q,P,

, , , ,A B C D

,B D R D R P C R

R R Q

21. Which of the following is facing to P? 
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P  

(a) A (b) B (c) C (d) D (e) None of these 
22. Which of the following is facing to D? 

D  

(a) P (b) Q (c) R (d) S (e) None of these 
23. Which of the following is sitting to next to the left who is facing B? 

B  

(a) P (b) Q (c) R (d) S (e)Data inadequate  
24. Which of the following statement is true about S? 

S  

(a) S is the last person in a line 
(b) S is second to the right of Q. 
(c) S is not an immediate neighbor of P 
(d) S is sitting next to the right of person who is facing B 
(e) None of these 

 (a) S

(b) S Q

(c) PS,

(d) S,B

(e)

25. Four of the following five are a like in a certain way and makes a group. Which is one that does not belong to that group. 

 
(a) DS (B) PB (C) QB (D) RA (E) PC 

26. Six persons A,B,C,D,E and F are sitting in a circle facing  centre . B is sitting between F and C . A is sitting between E and D. F 
is sitting to the left of D. Who is sitting between A and F? 

ED,C,B,A, F FB, C EA, D DF,

A F  
(a) B (b) C (c) E (d) D 

27.  Five members of a interview committee are sitting in a line. B is sitting to the left of E and to the right of A. D is sitting to the 
right of C but to the left of A. Who is sitting in the middle of the line? 

B E A D C A
 

(a) B (b) A (c) D (d) C 
28. Four children, P,Q,R, and S are sitting a ladder.  P is sitting above from Q. Q is sitting between P and R. If S is sitting above P 

than who is sitting third from the bottom? 

RQ,P, S QP, PQ, R PS,

 

(a) Q (b) R (c) P (d) S 
29. A, B, C, D, E, F and G are sitting in a row facing north. F is sitting next to the right of E. C is the neighbor of B and D. The  

person who is sitting third to the left of D, Ist of an end of row. E is fourth to the right of G. Then which position for A is? 

FE,D,C,B,A, G EF, BC, D D

GE, A  

(a) between C and E (b) Ist from right end 
(c) Ist from left end  (d) Data inadequate 
(e) None of these  

(a) C E (b)

(c) (d)

(e)

30. Five persons, P,Q,R,S and T  are standing on a circle, facing centre. Q is standing beteen T and S. P is not nearest left of S. 
Then who is second to the right of Q? 

SR,Q,P, T TQ, S SP, Q

 

(a) P (b) R  (c) S  (d) Data inadequate  

 


